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circles/ovals representing the most appropriate answer given on the
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Answer Sheet corresponding fo the relevant question by using only |

Black/Blue ball point pen. Answers not shown by properly darkening
in black/blue ball point pen, no marks shall be awarded.

No Rough work should be done on the OMR Answer Sheet. Space
for rough work has been provided in the Question Booklet itself.
Correcting fluid, eraser, blade, books, textual material, scripts,
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electrical/electronic devices etc. are not allowed inside the
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of any of the above, he/she shall be expelled from the examination
withiout any enquiry as to whether the same wasf/were used by the
candidate or not.

These instructions must be complied with fully, failing which your
Answer Sheet shall not be evaluated and Zero marks will be
awarded. ;

After the examination is over, candidates must ensure to fold the
OMR Answer Sheet at the perforation and separate the Original
Copy and Candidate’s Copy of the Two Part OMR Answer Sheet in
the presence of the Invigilator and handover the Original Copy to
the Invigilator, The Candidate's Copy of the OMR Answer sheet
may be taken by the candidate. Failure to hand over the original
copy of the OMR Answer Sheet to the Invigilator before leaving the
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PAPER-I
PART-A
GENERAL AWARENESS : 100 Marks

Instructions : Each question under this section carries TWO marks. Please read the questions
carefully and answer them by selecting the most appropriate answer out of the multiple answers
given below each as A, B, C and D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

1. Atmospheric humidity is measured by?
(A) Barometer (B) Anemometer
(C) Lysimeter (D) Hygrometer
QIERA BITEI 670 2 QA A1 AL ?
(A) QI6QUFR (B) UIREAIFTRQ

() Addea (D) QIRCEIAeR

2. What type of rock is coal?
(A) Igneous rock (B) Metamorphic rock
(C) Sedimentary rock (D) None of these

CRIRAI 6RQ 9RIaR Rl B6e 7
(A) EI68I, &l (B) QCIQE0 §I

(€) 2e8g Grl (D) 6866 Q6d

3. The instrument used for recording earthquake waves is?
(A) Barograph (B) Hydrograph
(C) Pantograph (D) Seismograph

QRS aer Al AIE MRQIQ ARAIRERl 99F @6 ?
(A) Qlequglier (B) QI96QI4)Ier
(C) eMie&ig)ler (D) sl gliep

4. Which one of the following pairs of Seas/Oceans does the Suez canal connect?
(A) Indian Ocean — Pacific Ocean (B) Mediterranean Sea — Black Sea

(C) Mediterranean Sea — Red Sea (D) Atlantic Ocean — Pacific Ocean
AARGe MM 9UQ 6RRIR 69Q QaF AITR/AQIAINag aPeaIe R6Q ?

(A) QoL AQldige - déela AQIICa (B) g@eel disiar - 9 disla

(C) Qe dgq - cRde AR (D) ZIeRER ARIAIER - 4Ie ARG
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5. How many numbers of States share their border with Odisha?

(A)2
(©) 4

CR60IT QIR GRaIQ a1AIg AIF 288 ?

(A) 9
(€)%

6. Which type of climate does Odisha enjoy?

(A) Tropical
(C) Equtorial

634616Q 6AQ GRIAR RRIILL ARQS QY ?

(A) Q1216
(C) 3¢ AaML,

7. The river Budhabalanga has been originated from?

(A) Nilgiri hill
(C) Gorumabhisani hill

QIR FA1Q QYR €RA0IQ 6QIRE ?

(A) Aad@ ade

(C) 6a1QA@sen a9e

8. Clotting of blood vessels is called?

(A) Thrombosis
(C) Agglutinisation

QEAR1 @AIC QIRRIQ @6 QQITNY ?

(A) geridg

(C) 2gerIasaan

(B)3
(D)5

(B)n

(D) &

(B) Temperate
(D) Tundra

(B) Q16616016

(D)9

(B) Deomali hill
(D) Similipal hill

(B) 62661 996

(D) dfRaln aee

(B) Rheumatism
(D) Fibrosis

(B) QQAIG@n

(D) chacaidq

9. *“Sindhu Netra” satellite has been successfully launched recently using which PSLV?

(A) PSLV - C 51
(C) PSLV - C 53

(B) PSLV - C 52
(D) PSLV - C 54

“G9600” @a9Q ¢2d GVQURA MR 68 aecsas eiaIadial ?

(A) Gvaua@ - 8se

(C) Bvaqua@ - dem
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10.

11.

12.

13.

14.

Which type of mosquito, when infected with the virus, is the main cause for spreading Dengue
fever?
(A) Culex (B) Aedes
(C) Anopheles (D) Mansonia
600 4RI A6l I60CREH QOIE QIR A°QAe Y, CIQI CoEP R 9aIa GAQIEQ AR CQIREIT ?
(A) 6nS, (B) ¥@69q
(C) eerIteng (D) FRsaifell

How many bones are there in an adult human body ?

(A) 202 (B) 204
(C) 206 (D) 208
@66 QAR FEE F1Q6R 6R6E6AIT Q19 &y ?
(A) 909 (B) 90%
(C) 903 (D) 90r
Light year is a unit of measurementof 7
(A) Speed of light (B) Stellar distance
(C) Speed of rockets (D) Speed of aeroplanes

ZIcAle 98 QI Va0 AIE e R ?
(A) ZICRAINA 696! (B) R68G9 990!

(C) Q6REQ 696 (D) QQIRIQINQ 699

Which of the following vitamins is considered helpful to keep eyes healthy?
(A) Vitamin C (B) Vitamin B
(C) Vitamin A (D) Vitamin D
AaRsie GeIfia ARG 6aa6 a8e 98 AFIQIca AIQI K6 ?
(A) Ge1fie “@” (B) @a1da “@”

(C) Gerfin “g” (D) 66160 “6”

Which of the following is not the ancient name of Odisha?
(A) Kalinga : (B) Utkal
(C) Odra Desha (D) Koshal
FARGO ARG €RAE GRAIQ gAIeR I Qed ?
(A) e (B) g%
(C) 6604 (D) 6RIER
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15. The first Satellite was launched by which country?
(A) Japan (B) U.S.S.R.
(C)US.A. (D) Germany
geIf QAgR 64 €26 QA Qs8N FAIAIRSRI?

(A) QaIq. (B) €1Qe. Q8

(C) 93U AR (D) esien

16. The first nuclear reactor of India is?
(A) Dhruva (B) Harsha
(C) Apsara (D) Vipul
QRO geir QAT G FIF @6l 7
(A)ye (B)ed

(C) Zaga (D) 69m

17. Bleaching powder is made from?
(A) Sulphur dioxide and gypsum (B) Chlorine and charcoal
(C) Soda ash and lime (D) Lime and chlorine

Q96 CIRQQ cRAZQ 990 7
(A) ARER BIRZYRL 6 FAgn (B) 6188 G SIQ6RIR

(C) 610! 2iIdl ¥e° RIan (D) ARSI G 69108,

18. Among the various allotropes of carbon which of the following is correct?
(A) Diamond is the hardest, charcoal is the softest
(B) Diamond is the hardest, lamp black is the softest
(C) Charcoal is the hardest, graphite is the softest

(D) Diamond is the hardest, graphite is the softest.
g 908 Q8 ANG cadel 0% 266 ?

(A) 2191 20904, G910 CRlam PAAGH

(B) 2101 Q08¢ RYIPCIR! QRGN

(C) QI0 cRIRR @69@91.@91@6{ alolalele

(D) 2190 @067, FIRs FQAGH
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19.

20.

21.

22,

23.

The Sun Temple at Konark is known as ?
(A) Peace Pagoda (B) Black Pagoda

(C) White Pagoda (D) Golden Pagoda
saieiaq aaf ndeg @' QigiaN 7
(A) 618 ClI6alIBl (B) @& QI6QI®

(C) 660 QI8! (D) g€ alesilol

Which of the following disease(s) is/are related to Corona virus?

(A) MERS (B) SARS

(C) Both A and B (D) Neither A and B
ARGe 6RA QIS Corona QO16 AAME, 7

(A) MERS (B) SARS

(C)9@E, AG B (D) A @7 B Qed

Which virus is responsible for Covid-19?
(A) SARS — Cov -2 (B) SARS — Cov - 1
(C) NL63 (D) MERS - Cov
Covid-19 614! €6l 6R6 QO8] QI ?
(A) SARS-Cov-2 (B) SARS-COV-I
(C) NL-63 (D) MERS-Cov

Who among the following persons is known as ‘Kabi Chandra’ ?
(A) Upendrabhanja (B) Kali Charan Pattanik
(C) Nanda Kishor Bala (D) Radhanath Ray

FrAde B Mg FIQIQ “e8e8” QQIaN 7
(A) Q609 OB (B) QIf998 deqIgs

(C) 60 Q68 9R (D) QURiifIel QUL

Who was honoured with ‘Bharat Ratna’ in the year 2019?
(A) Bhimsen Joshi (B) Madan Mohan Malviya
(C) Pranab Mukherjee (D) Atal Bihari Vajpayee
of 90 0¢ 6@ @Y “@QERE QA AWAE QIR ?
(A) QUA6ER 64N (B) FIRR6AIQR MRS,

(C)gae asliel (D) 2R I91Q1 Qleea

P-I-R1-2021/A
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24. The ‘Lalit Kala Akademi’ is dedicated for promotion of which of the following?
(A) Dance and Drama (B) Fine Arts
(C) Literature (D) Music

‘AR 9n1 velIcen” A9RGe 86 ANQ QIRIQ 9UIR QIE ARe ?
(A)QIRd 6 QIfl (B) @ aidg

(C) RS0 (D) 4@

25. ‘Madhubani’ style of folk painting is the popular painting of which Indian state?
(A) Madhya Pradesh (B) Uttar Pradesh
(C) Bihar (D) Rajasthan
‘901" RIS 0LeR! QINEA (RA AMA cAISTS, G9! B6e ?

(A) PRIHEERS! (B) @@ g6

(C) @Qia (D) Queglf

26. Next to Hindi, which language is spoken by the maximum number of people in India?
(A) Tamil (B) Bengali
(C) Telugu (D) Urdu
@0 96 coQ QISR QPR AR CRIF MeQIQ eRaId ?

(A) lfa (B) Q&R

(©)6999 (D) o

27. Who is the poet of famous song “Bande Utkal Janani™?
(A) Fakir Mohan Senapati
(B) Laxmi Kanta Mohapatra
(C) Radhakanta Ray
(D) Gopabandhu Dash

“Q60 Q@R PAR1” dMea QRdRl §Y ?
(A) IR 6AIQR 6AG1a8

(B) Agne1Q AQialg

(C) Qurliflel qug,

(D) cqligea Qlg
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28. Who is the author of the book “My Journey : Transforming dreams into actions™?
(A) Dr. Manmohan Singh (B) Jairam Ramesh
(C) Dr. APJ Abdul Kalam (D) Malala Yousafzai

gge “PIa 0§ : Q1egctie 8919 ARG 218027 CRse &9 ?
(A) 98 AREAIQR &° (B) G9QIA Q6A4

(C) 98 ¥.0.60 Q9R A (D) ARIRl SRR

29. How is the eminent person ‘Tenzin Gyatso’ popularly known as?
(A) Panchen Lama (B) Nagarjuna
(C) Dalai Lama (D) Rimpoche

Q8 18 “conier cacs” cad QIFER LARRS ?
(A) €Icae Qe (B) QISIGH

(C) oRi@ @l (D) Qgeaie

30. Who is the winner of Wimbledon Tennis Boys’Singles Junior Championship 2021?
(A) S. Gueymard Wayenburg
(B) Samir Banerjee
(C) Victor Liloy
(D) Juneheng Shang

“GREINER 697Y AN YR @REq erdanda” 9090 @ el §Y ?
(A) Y2 999 geanasl
(B) amq QIplet
(C) Q89Q RS

(D) QRSORP 6lIGP

31. Which of the following is the largest sweet water lake in Odisha?
(A) Ansupa (B) Chilika
(C) Pata (D) Kanjia
QOGO ARG 6RAT GREIQ 9AN AYR @R Q0 86 ?
(A) &gl (B) 84!
(C) ale | | (D) @188

P-I-RI-2021/A
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32. In which year did India win the first Gold medal in Hockey at Olympic Games before

Independence?
(A) 1910 (B) 1920
(C) 1928 (D) 1945
QRN 99Q 28 6616 QIGY 9 oF 2RTaca gan gdaes 868 ?
(A) Queo (B) €¢90
(C) ee9r (D) eex8

33. In which district of Odisha is the Central Rice Research Institute situated ?

(A) Khordha (B) Cuttack

(C) Sambalpur (D) Koraput
GP6IQ 6aa RIER “Cantd dIQ G686 SQRIN” BQde ?

(A) 68118 (B) 6@

(C) a9RgQ (D) 6RIQUQe

34. Inacronym SAARC, what does "C’ stand for?
{A) Committee (B) Common Wealth
(C) Conference (D) Cooperation

e 6@ “SAARC™ 'C' 9IQl e 88 ?
(A) QAG (B) @riqeamel
(C) @RERARY (D) 6210607

35. Which of the following is the headquarters of World Trade Organization (WTO)?
(A) Paris (B) New York
(C) Geneva (D) Madrid
Qg @18@ eegl (WTO)@Q s aIifg, 6R60I6a 21980 7
(A) eMidg (B) foae

(C) 6aena) (D)A1@e

36. How many members from Odisha are elected to Lok Sabha ?

(A) 14 (B) 15

(C) 18 (D) 21
GREIQ 6R60 @6 QY cAINAAI H9Toe Qa8 7

(A) ex (B) 28

(C) er (D) 9¢

P-1-RI-2021/A



37.

38.

39.

40.

41.

Which of the following countries is not a member of United Nations (UNO)?

(A) South Africa (B) Palestine -

(C) Israel (D) Cuba
FARGES MY 694 606 QAR a8y 98 ?

(A) 0S8l 2! (B) AI6ASIQR.

(C) agivm (D) M@

What is “ Wall Street’?
(A) Stock exchange of Calcutta j (B) Stock exchange of New York
(C) An Indian Township in Britain {D) None of these

“ain 80" @81 7

(A) RAREIQ 8Q YRS, (B) RO 86 Y2608,
(C) 360760 QI00Q QIR (D) 6R66 Q6

‘United Nations’ (UNO) celiebrates ‘International Day of Yoga’ globally on which date?
(A) March 08 _ (B) May 08
(C) June 05 (D) June 21

QIFEd Qe 9Ag FEER “BIR@T1E, 6aIE D9Q” €RE SIRLIER QIR AT ?

(A) SIS (B)&sl

Cens (D) @R 9¢

Which of the fﬁ)}]owing districts of Odisha has topped in production of Turmeric?
(A) Ganjam (B) Mayurbhanj
(C) Kandhamal : (D) Sundergarh

BR4I0 €RQ @G 2R QYINREa gan 26e 7

(A) oeie s (B) ALQ@

(C) @9AlR (D) 22091Q

Who was the Viceroy of India when Muslim League called for the “Direct Action Day”?

- (A) Lord Ripon (B) Lord Minto I1

(C) Lord Linlithgo . (D) Lord Wavell
QAR A9l QI 2R SQUAIREIQI “Direct Action Day” AAI0LQ QAR QARAQL, &Y Eic ?
(A) 9 Gaq.  (ByRe feai. 11

(C)RG Anfess! " (D)RO 6usaR

P-1-RI-2021/A
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42. Who was the first Governor General of India? ;
(A) Lord Minto (B) Lord William Bentick
(C) Warren Hastings (D) M. Cornwallis

QIQVQ geir dade casaain @9 gom ?
(A) A9 Fey (B)R¢ aaman cede

(C) @lean. cefiam (D) Y9 f4aIRg

43. What were the names of Ashoka’s mother, wife and daughter?
(A) Mahadevi, Subhadrangi, Sanghmitra :
(B) Subhadrangi, Mahadevi, Sanghmitra
(C) Mahadevi, Sanghmitra, Subhadrangi
(D) Subhadrangi, Sanghmitra. Mahadevi

geslea Al 9 ¢ aeR 91F @8 gal 7
(A) A19160Q1, gaQien, C°ads)

- (B) 99QI6R. AQI6R91, QAAQ
(C) FIQI091, CafQ! gaglen,

(D) gagien, eeadsl, Ag16ee

44, [Initially, Queen Elizabeth I approved the charter to the East India Company for how many

years?
(A) 5 years (B) 7 years |
(C) 10 years (D) 15 years:

Qe YReIcee ger as: adel eain ale gieifie aailase cae of dIR G99 BQEIAn Fadin 7
(A) 8 od : (B)9 ad

(C)eo @8 (D) 08 of

45. ‘Panchatantra’ was written by whom?
(A) Kalidasa (B) Vishnu Sharma
(C) Tulsidas : (D) Banabhatta
“aEea” &9 cadilicm ?
(A) QIR0 (B) dggil

(C) epanala (D) Ql6es
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" 46. Mohenjo-daro is also known as?
(A) Mound of the great
(C) Mound of the living

“oeeemiqicnl” Q EMRIR Q8 ?
(A) 9108 2er @ 656
(C)Flag 2er & Al

(B) Mound of the survivors
(D) Mound of the dead

(B) flag ger & delaaqd
(D) FlQg, 2P @ 60Q

47. The infamous Jallianwala Bagh massacre happened on which festival day?

(A) Holi
(C) Raksha Bandhan

(B) Baisakhi
(D) Lohri

ARZIREIA SIEQ AIANA FAE-RIQ cdl aF 39 cAIRBN 7

(A) 6QIR
(C) Q81988

(B) 636116
(D) 6RIQQ

48. Which among the following dynasty was ruling over Magadha when Alexander invaded India?

(A) Shisunagas
(C) Mauryas

(B) Nandas
(D) Kosalas

BCAREIYAFT GO0 2IGAE QAR RARGS ANQ 6eal QIR E AGYY Glge 9Q8R ?

(A) dgaie

(C) e

49. The lengthiest classical epic of India is?
(A) Bhagawad Gita
(C) Gita Govinda

QIeQ 99990 cdladia g8 68as ?
(A) 09196 Q10

(C) Q16 6aIaR

50. Odissi dancers in Jagannath Temple are called as?
(A) Mahari
(C) Gotipua
QeInlel ARG GO PARIE Q8 QRIANT 7
(A) FIQIQY

(C) 60152

P-1-RI-2021/A

(B) @2

(D) 6QI€IR

(B) Ramayana
(D) Mahabharata

(B) QUGS

(D) g€l

(B) Pala
(D) Patua

(B)aip

(D) 95
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PART-B »
MATHEMATICS : 100 Marks

Instructions : Each question under this section carries TWO marks. Please read the questions
carefully and answer them by selecting the correct answer out of the multiple answers given
below each as A, B, C and D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

51. If a number is increased by 25% and then decreased by 25%, find out thepercentage of
increase/decrease of final value of the number.

(A) Increase by 6 % % (B) Decrease by 6 % %
(C) Increase by 93 ;3; % (D) Decrease by 93 %%
4G caIGY Qo 9698l 25 98T Y9° e1aa sﬁoaw 25 QA GIY. €069 ECHITQ QIR AR €099
6960 98 QI QI 69 ? '
{A)é%%@@ (B)ﬁi%@;}

.3 = ]
(€)93= %498 (D) 93 = %qld

52. A person’s present age is three-fifth of the age of his mother. After 8 years, he will be two-third
of the age of his mother. How old is mother at present?

Q68 Q48R QAR QU QIF FIZIF QA BG-CBARY | § 9F CLQ SIFR 94 CIF AIZIT 9AaR
QR-Q8191°8 €29 | QAAIR Gl AIZIFA QL 669 ?

(A) 36 years (B) 38 years

(C) 40 years ; ' (D) 42 years

53. Find the greatest 3-digit number which when divided by 5, 6 and 7 leaves a remainder of 3 in
each case.

606 SRaw B8ie QoA Salig 5, 6Y9° 7 QIAl QU6 QR GICIEES F6H1G CHIGER 3 Qa7
(A) 999 (B) 943
(C) 843 | (D) 840

54. A train running at the speed of 60km/hr crosses a single pole in 12 seconds. Find the length of
the train. : .

ColIdY 690 a8l 9@ 60 Q4. cadisn G1F QeI ANELA Y9 Y4Q 12 CACRYLA ZDR ARl | §PER
6609 60 6607 '
(A) 80m (B) 100m
(C) 120m (D) 200m
P-I-RI-2021/A
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‘5. A shopkeeper sells two articles at Rs. 600 each, making a profit of 20% on the first article and a
loss of 20% on the second article, Find the net profit/loss that he makes.

(A) 4% Loss (B) 2% Loss

(C) 1% Profit (D) No profit or Loss
@60 CQIQINT QAF Q9MQ 6R1R 600 CHQ 98 @A gEN Q916 001 20 AIQ G G010 Q96
G000 20 86 G968 | 606R 6d 9IZR0 (AR AR @ 86 e  ?

(A) 4% S0 (B) 2% 8%

(€) 1% AIQ (D)AG 9 88 AT

56. The salary of X, Y and Z are in the ratio 5 : 3 : 1. The salary of X and Y together is Rs 7200. By
what percent is salary of X more than that of Z ?

X, Y6 ZQoanla 89aie 5:3:11 X6 Y Q a0 I6e Qe 7200 0&1 | X Q Qs Z
QQAI0IQ) 6999 6969 BUR ?

(A) 100% (B) 200%

(C) 300% (D) 400%

57. A sum of money amounts to Rs. 7200 after 6 years and Rs. 9900 after 9 years at the same rate of
simple interest. Find out the rate of interest.

e ARUe AAI8 AaRgy QIe6a 6 adea 7200 661 ¥9° 9 98a 9900 ¢@ Y | 6068 AIFR QuQ

QIR 6960 ?
(A)30% (B) 40%
(C) 50% (D) 60%

58. If 5%77=125, 2**Y= 128, then find the value of x2 - y2 ?
94 5%Y= 125, 2¥"Y= 128,6069 x2 -y2Q A 6960 7

(A) 35 : (B) 21 ©)7 (D)0

59. Determine the value of ‘a’ when/59= 25
2@ V58=25 QY. 6060 ‘a’ @ AR 6R6Q ?
(A)3 (B) 6 (C)9 (D) 12

60. A person takes 30 minutes more to cover a certain distance by decreasing his speed by 40%.
What is the time taken to cover the distance at his original speed?

@68l 918 6 88 9aoIq 209 @A4! dia 6d 9lER 696 990! 40 FAIRR 30 AR 2y Fad |
€069 6a 97 AR ceGEQ §16 AAE, 6069 cad QQVIQ BT GGQI i 6R6e AR MIFR?

(A) % hr (B) % hr (C) 1 hr (D) 1 % hrs

P-1-RI-2021/A PR
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61.

62,

63.

64.

65.

66.

20 men and 25 women together can complete a work in 5 days. It takes 150 days for one mai.-
alone to complete the work. How many days will be required for one woman to complete the
same work?

20 @6 998 G 25 @8 91 €ISV QAN 5 GAcQ caT QT | @cH YQEG YRR AAI9 Q0] cas
QRQIQ 150 86 MICE | €R6Q D8l AR YRINT AAIR QI 668 GQQIQ €a6e J0 AT 7

(A) 300 (B) 325

(C) 350 (D) 375

A rectangular block, having length, breadth and height 16cm, 12e¢m and 8cm respectively, is cut
into an exact number of equal cubes. Find the least possible number of cubes.

cQIE 2IaeaIq i, QIQIa T, gg 6 @90l Qa9 16 caf. 12 caf. 6 8 caf. ¢ aeiaIa
0@ AaIe PEHIQ AAARER 0G0 QLY | 6969 AER7 ANURQ el €se ?

(A) 18 (B) 24 (C) 30 (D) 36

If x>y, x+4=36 and;t-ki:%, then find out the value of x and ¢ 7
a6 x>y, x+y=36and%+$:—é-, 6069 x G 4 Q FRY 660 ?

(A)27.9 (B) 24, 12
(C) 18,18 (D) 36,0

If 15 men working for 8 hours a day can plough a field in 36 days, in how many days will 9 men
working for 12 hours a day can plough the same field ?

a8 15 96 gQ8 299 8 A& GRSV AN 98 Y6 @Fg 36 QA6 I8 QACINE ; €968 9 @6 UQE
30Q 12 Q4 ARSI QIF Q6n 6a8 GFQ 6o Gr6a QI8 @QEIGEe 7

(A)32 (B) 36 (C) 40 (D) 45

If the external and internal circumference of a circular road is 396m and 352m respectively, then
what is the width of the road? (m = %}

90 caITY QARIQ AR QR @ GEQ A& IYEH 396 e 6 352 HeQ QY. 606@ QYR ga
6260 ? (=2

(A) Tm (B) 14m (C)21m (D) 28m

The volume of a cylinder is 1232m’. If the area of curved surface is 176m?, then find out the

circumference of its base? (n = 5?5)
6qISy dReaa Qeem 1232 A8, | 98 YQIQ 9§ ¢8eRa c8oaR 176 @F. QY. €06@ gfia Atk
6a0 7 (1==)

(A)22m (B) 44m

i (D) 196m

P-I-RI-2021/A



67.

68.

69.

70.

71.

72.

73.

If 0.863is converted into a rational number, find out the number?
9@ 0.863 @ 6qITY AGeAIa, @eHIca ATRER FAUAIY, 6960 ABHIT 6R6R ?

Az ®=
. 863 ; 19
(Cree (D)5

s -
Find the value of (g)z %643 x(z%} 2

% el -1
(g)z'x643 x[l%} Q AR Gl a1
A4 (B) 8 (©) 16 (D) 32
gk (eusisBig MUBET
(x+g.+x»—1,c) ' (x—‘y, x+fy.) “—?
(A)3 (B)3
©)1 (D) 2

If 2%%2 % 3%=2= 96, find the value of x.

a@ 2%+2 x 3¥2=96 QY. x Q ARY AL QQ ?
(A) 1 (B)2 ©)3 (D)4

If x:4 =3 :4, then what is the valueof (3x —¢ ) : (2 +2¢ ) ?
90 x:9=3:490 6060 (3x-4):(2+24)Q Aal 66O ?

(A)5:11 (B)11:5
(C)16:55 (D)55:16

If the side of an equilateral triangle is decreased by 2cm, its area is decreased by 11v/3 cm?’.
What is the height of the triangle?

93 6eIGY 9nQIg GQea 96eie QIga ¢Balg 2 caf. QAIAIY. YRIQ IR 11V3 od caf.
GAaIY | §eFa G0l 676e ?

(A) 3v3 ecm (B) 4 V3 cm
(C)5vV3em (D)6 V3 cm

; sin*@ Sin*@
ue of . ?
What is the val R s

in%g Sin?@
SRR 3 IO i ia
1+Cos#d 1-Cosf B

(A)0 (B)% (€)1 (D)2

P-I-RI-2021/A P.T.O.
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74.

75.

76.

77.

78.

79.

Find out the value of (0.04)?,

(0.04)? @ qan 340, 9@ ?
(A) 625 (B) 2500
(C) 5000 (D) 10,000

What is the smallest number by which 13122 must be divided to make it a perfect cube?

13122 Q ¢od QA a6l QAU QIS A5R QSR I§ G4an Qe 6Qe ?

(A) 12 (B) 18 (C) 36 (D) 72

If each angle of a triangle is decreased by 10°, the ratio of three resultant angles will be 6 : 4 : 5.
Find out the greatest angle of the triangle?

COIEY §Qea g6eie cRIQ abiriaq 10° AU FAIRcRcR QRIS CRIEAINGR 2010 6 : 4 1 5
QY | GRRR 90N 6RIEQ TRIE 69607

(A) 50° (B) 60° (C) 70° (D) 80°

A fruit seller purchased 20 kg of apples at Rs 300. Out of total quantity, 2 kg of apples were
rotten. At what price per kg he should sell the balance quantity of apples to get a profit of 20%?

6RITY € 6RIRIRT 200 6]l 696 300 omeq Q&em | 98Q 2 Q.91 991 QXA | UGS €A Q6.
g0 @60 Q0L 99 A5 F19981 20 AN €1 7

(A)Rs. 36 (B) Rs. 20

(C)Rs. 18 (D) Rs. 15

A businessman gives 10% discount on the marked price of a watch. If the cost price of the watch
is Rs. 300, then find out the marked price to get a profit of 20%?

@68 MUY AYQ ATE AR QU6Q 6990l 10 GRIT 32Q | AYTQ LA 300 O& QLR A9RAI
20 AIQ GIR9l QIR AGE FAY 6@ 699 7

(A) Rs. 300 (B) Rs. 360

(C) Rs. 400 (D) Rs. 450

A person deposited Rs. 9000 in a bank. After 2 years, he withdrew Rs. 4000. At the end of 5
years he got Rs. 7640 from the bank. Find out the rate of simple interest per annum?

Q66 948 U SHIEKQ 9000 §G1 @A CORI | 2 9F QLR €a 4000 O& QOIRAI | 5 9F 661869 64
QIS 7640 G&1 CIRRA! | 6969 QITR AR LA QA 6FEH ?

(A) 6% (B) 8%

(C) 10% (D) 12%

P-I-RI-2021/A
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81.

82.

83.

84.
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What will be the total compound interest for 9 months on Rs. 5,000 at the rate of 40% per
annum if the interest is compounded quarterly?

5000 G@IEQ QIER §9Q0I 40 0998 QY QIALA 9 FIAQ CAIT PRYS G 6REe 69, @ 3 fIaQ
e6R 9998 Qv I QQUAIY ?

(A) Rs. 1665 (B) Rs. 1655
(C) Rs. 1645 (D) Rs. 1630

The length of three rectangles having equal area are 24 ¢cm, 12cm and 8cm, What will be the
ratio of their breadth?

ARIe esgc Q8% F6aIT 20680 AF 24 68A., 12 a4l 6 8 cALT | 6068 CENIRER 989
2RO 6REO 609 7 :

(A)3:2:1 B)2:3.:1
eyl 23 N 2y

A cube of wood of side 12cm was cut and formed into a largest sphere. Find out the volume of
the sphere?

12 a8, 91g Q88 6olITY AATRIRIA FIOHETY Q1T Y6 9QaF CRIRG6R AR8e AUsial | CRIReQ
Arem 20 9Q |

(A) 288 7 cm’ (B) 864 &t cm’
(C) 2304 7t cm® (D) 6912 7 cm’®

Asim purchased rice of Rs. 800. He sold %th out of purchased rice at a profit of 10% and rest part
at a loss of 10%. Then find out the percentage of profit or loss in selling of total rice?

(A) 2.5% Loss (B) 5% profit

(C) 7.5% profit (D) 10% Loss
2de 800 Cricq Qo @8cn | @8Rl QIaRa %81%1@ 619901 10 G B 29die 8°6q §963! 10
060 @7 F6M | 606Q AAY AR AHER FIER FOR9I LAE0 MG 9 S0 ceml ?

(A) 2.5% 86 (B) 5% @

(C©) 7.5% AQ (D) 10% 86

A seller marked a price of Rs. 460 on a cycle and sold it giving 25% discount. If he got 15%
profit, then find out the cost price of cycle purchased by him?

@68 6QIRINT ¥R LIREAR QAEQ 460 Cat Gl cRGITIER Y6° §0G0I 25 QQIT €0a §F QR | 28ika
Ola 610691 15 A0 AIRlen | AIReNTq 64 6060 QIfca S8 7

(A)Rs. 414 (B) Rs. 360
(C) Rs. 300 (D) Rs. 200

P-1-RI-2021/A P.T.O.
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85.

86.

87.

88.

89.

- B e leowaly gt 5
Find out the sum of the sequence °f5xa F oy T g e up to 16" terms®
Gecb o et L 16 & 9@ 9978 AQAAQ CAIRH 676H ?
5X6 6X7 7x8 o

16 20
A= (B) 57
4 21
©3 WS

A finished ;35 of a work in 9 days for colouring of a house. A and B together completed rest

work in 7 days. If B alone works, how many days he would have taken to complete the entire
work?

A 69159 QA Q&P 60l ARl 9 @Rca % g°dl Q19 €68 enl | A 9@ B §d 2eds aifq 7 05¢a a8
Q6Rl 6969 94 B YRI91 @9] 993, €2 ARG, Q107Q €260 FR6R 6618 SRR ?

(A)30 (B) 20
(©) 16 (D) 15
J6¢ \gjjg =a + by/6 , then find out the value of aand b ?
0 212 = a + bV QU. 6960 2 6 b QAR €a60 7
7 3 Ry
(Aot (B) =y e
—2i3 =7 =%
O 5.3 ()

A batsman makes a score of 95 runs in the 16" innings and thus increases his average by 4 runs.
Find his average runs after 16" innings?

@661 MIGAHIAR GIER C8IOE CIFER 95 QR A8 ¢ VI GIR AR AR 2IQ 4 98 QU | €06
QIR 68106 QIR G6Q YAAR AR €RER?

(A) 35 (B) 34

(C)33 (D) 32

A boat man can row 5km against the stream in 30 minutes and return in 20 minutes. Find the
rate of current?

Q68 QIaQY 6910 EQRQ 30 ARG 5 8.4 2IgRl AIGaIRE 6 20 FRCQ ¢oRCIaR | €QIea ¢
6969 ?

(A) 2km/hr (B) 2 5 km/hr

(C) Skm/hr (D) 7 5 km/hr

P-1-RI-2021/A



90.

91.

92.

93.

94.

95.

2l
Three numbers are in the ratio 4 : 5 : 6 and their LCM is 4500. What is their HCF?

FERIT PG BIQEI0 4 1 5 1 699° CAAINER MALG. 45001 6962 CAMIRER 6.41.9. 660 7
(A) 45 (B) 60
(©)75 (D) 90

A mixture of 200 litres of milk and water contains 10% of water. How much more water should
be added so that water becomes 20% of the new mixture?

200 ACQ QY @ QifQ Yo Agasa §090l 10 aiEl ad | Y@ Hgeea 2la c@ee aifl Aanm aidia
26 610991 20 699 ?

(A) 10 litres (B) 20 litres

(C) 25 litres (D) 40 litres

A wire can be bent in the form of a circle of radius 28cm. If it is bent in the form of a square,
then what will be its area? (m = 27&)

CAITY Q1aQ 28 cAA. AN Q88 Y@ 9@ 2QPER 9@ FAAIREIER | 9@ Y] G10Q Y Qe8]
~ 22
2PRER A& QQUAIY, 6069 YQIG QLR 6R60 7 (Tr=—7~)

(A) 1089cm’ (B) 1936¢m’
(C) 3025¢m’ (D) 4356cm”

The average age of a husband and his wife was 25 years at the time of their marriage. After six
years, they have a one year child. What is the average age of the family now?

@66 QAN 6 1A CAAIRE FIQ AANLR AAIQIR QUG 25 TRl | 88 AF A6A. AR EANEY VR
oda &g 28 | aAIe 0GR QAR DL 6R6S ?

(A) 19 years (B) 21 years

(C) 23 years : (D) 25 years

A boat can move 9km/hr in still water. If the river is running 3km/hr, it takes 90 minutes to
move to a place and back. How far is the place?

€elIGY 610 8a PR el 98 9 &.8. 69d6a 616 afaIca | 98 F1R 6916 AQl gf 3 .4 crska
60 Q6Q, QI 6SIEY 2I0Q §8 QA8 ¢ ceRel AR 90 ARG ada, Y | €660 ARTA QAR 6666 7

(A)3 Km (B) 4 Km (C) 6 Km (D) 9 Km

If the simple interest on a sum of money at 10% per annum for 3 years is Rs. 1500, find the
compound interest on the same sum for the same period and the same rate.

A3 6Al6E ARNUAR §0981 10 ARA 3 TR ARG 1500 Gl Y, €069 A8 ARNAQ ¢ad ara
PRIEQ 698 QY QIQEA 9RGE QY €76R €QQ ?

(A) Rs. 1655 (B) Rs. 1665
(C) Rs. 1675 (D) Rs. 1685

P-1-RI-2021/A BT 0.
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96.

97.

98.

98,

100.

Hari read 7/15™ pages of a book in the 1* week and 5/12" of the remaining pages of that book
in the 2™ week. If there were 56 pages unread after 2™ week, how many pages were in the
book?

Q@ caId aga 7/15 2re QR ger Aaeen adcm 6 ¢ad 9Qa YedS QRIA 5/12 Bd Q61T
aUQen a@em | 9@ Q10 IR @6Q I 56 9N Rl CRIA LIV, 6068 9Ta CRLe g8l Eal ?

(A) 160 (B) 180
(C) 200 (D) 220

If the sum of two numbers is 42 and the HCF and LCM of these numbers are 6 and 72
respectively, then what is the sum of the reciprocals of the numbers?

98 Qf reQ CaIgER 42 G Y@ QGNIgEea 6.4l8. 6 ALY Qg 6 6 T2 QY. €06
QGHIYER PFAQ TR €68 7

A= (B)%
433

©s (D)%

From a point on a level ground the angle of elevation to the top of the tower is 60°, If the tower
is 346m high, what is the distance of the point from the foot of the tower? (\3=1.73)

651TY AneRea Eiel caITY 824 BRIAR aEa cldie arda abrig 60°1 98 2FIRAIQ L6l 346
8. @Y. 606R IR AIRCRE0IQ F99 QaYI 66k ? (Y 3=1.73)

(A) 346v/3m (B) 173m
(C) 100m (D) 200m

If 60% of% of a number is 9.5, then find out the number?
5 T =
& 2°6HIG E 6l §96e 60 99 9.5 27, 6669 reIe 6Res ?

(A) 380 (B) 95
(C) 38 (D)3.8

A invested 20% more than B. B invested 25% less than C. If the total sum of their investment is
Rs. 2650, how much amount did ‘B’ invest?

A, B 0IQ 69901 20 2o 28 98cais Q6n | B, C 2608l 90601 25 @7 28l 9F6aIa aem | 98
carieaa ageiq 2ig AF6aIaa adinle 2650 Ga QY. 6969 B @ 28 9GedIfq atnlel eaee 7

(A) Rs. 750 (B) Rs. 900
(C) Rs. 1000 (D) Rs. 1340
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